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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 State the salient features of Book-keeping.

		  nwñV nmbZ H$s ‘w»¶ {deofVmE± ~VmB¶o&
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	 (ii)	 State the objects of accounting.

		  boIm§H$Z Ho$ CÔoí¶ ~VmB¶o&

	 (iii)	 When was the Accounting Standard Board constituted?

		  boIm ‘mZH$ ‘ÊS>b H$s ñWmnZm H$~ hþB©?

	 (iv)	 What is the meaning of authorised share capital?

		  A{YH¥$V A§e ny§Or go ³¶m Ame¶ h¡?

	 (v)	 What may be the maximum amount of discount on  

re-issue of forfeited shares?

		  haU {H$¶o J¶o A§em| Ho$ nwZ{ZJ©‘Z na ~Q²>Q>o H$s A{YH$V‘ am{e 
{H$VZr hmo gH$Vr h¡?

	 (vi)	 What are the sources for redemption of preference 

shares?

		  A{Y‘mZ A§em| H$m emoYZ {H$Z-{H$Z òmoVm| go {H$¶m OmVm h¡?

	 (vii)	What are the types of Debentures?

		  G$U nÌ {H$VZo àH$ma Ho$ hmoVo h¢?

	 (viii)	On what assumption the net assets method of valuation of 

shares is based?

		  ewÕ gån{Îm A§e ‘yë¶m§H$Z {d{Y {H$g ‘mÝ¶Vm na AmYm[aV h¡?

	 (ix)	 What as an asset is the nature of good will?

		  gån{V Ho$ ê$n ‘| »¶m{V H$s àH¥${V {H$g àH$ma H$s hmoVr h¡?

	 (x)	 What are the types of reconstructions of companies in 

broad sense?

		  ì¶mnH$ AW© ‘| H$ån{Z¶m| H$m nwZ{Z©‘m©U {H$VZo àH$ma go {H$¶m Om 
gH$Vm h¡?
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 What items are generally included in the capital profits? Explain

	 ny§OrJV bm^m| ‘| gm‘mÝ¶Vm {H$Z ‘Xm|H$mo gpå‘{bV {H$¶m OmVm h¡? 
g‘PmB¶o&

3)	 What do you mean by calls in arrears and calls in advance? 

Explain.

	 ~H$m¶m ‘m±Jm| Ed§ AJ«XÎm ‘m§Jm| go Amn ³¶m g‘PVo h¢? g‘PmB¶o&

4)	 What are the objects of purchasing own debentures? Explain 

with example.

	 ñd¶§ Ho$ G$U nÌm| H$mo H«$¶ H$aZo Ho$ ³¶m CÔoí¶ hmoVo h¢? CXmhaU g{hV 
g‘PmB¶o&

5)	 How is the liability of co-under writers determined? Illustrate 

your answer by giving a suitable example.

	 gh A{^JmonH$m| Ho$ Xm{¶Ëd H$m {ZYm©aU H¡$go {H$¶m OmVm h¡? Ed§ Cn¶w³V 
CXmhaU XoH$a AnZo CËVa H$mo ñnîQ> H$s{O¶o&
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6)	 What items are generally included in transactions prior to 

incorporation?

	 g‘m‘obZ go nyd© Ho$ ì¶dhmam| ‘| gm‘mÝ¶V¶m H$m¡Zgr ‘X| gpå‘{bV H$s 
OmVr h¢?

7)	 What is internal reconstruction? How does it differ from external 

reconstruction? Give journal entries in the books of a company 

adopting internal reconstruction scheme. Give an imaginary 

example.

	 AmÝV[aH$ nwZ{Z©‘m©U ³¶m h¡? ¶h ~mø nwZ{Z©‘m©U go {H$g àH$ma {^ÝZ h¡? 
AmÝV[aH$ nwZ{Z©‘m©U ¶moOZm AnZmZo dmbr EH$ H$ånZr H$s boIm nwñVH$mo§ 
‘| OZ©b à{dpîQ>¶m± Xr{OE& Ed§ H$mën{ZH$ CXmhaU Xr{OE&

8)	 Which is the best and scientific method of valuation of good 

will? How good will is valued by this method?

	 »¶m{V ‘yë¶m§H$Z H$s gdm}Îm‘ d d¡km{ZH$ {d{Y H$m¡Z gr h¡? Bg {d{Y go 
»¶m{V H$m ‘yë¶§mH$Z H¡$go hmoVm h¡?

9)	 What do you understand by intrinsic value and market value of 

shares? How are they determined? Give suitable illustrations.

	 A§em| Ho$ AmÝV[aH$ ‘yë¶ d ~mOma ‘yë¶ go ³¶m VmËn¶© h¡? CZH$m {ZYm©aU 
{H$g àH$ma hmoVm h¡? C{MV CXmhaU Xr{OE&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Discuss clearly the order in which a liquidator should distribute 

the amount from the sale of assets.

	 g‘mnH$ Ûmam gån{Îm¶m| Ho$ {dH«$¶ H$s am{e H$mo {H$g H«$‘ ‘| {dVaU H$s 
Om¶oJr? ñnîQ> ê$n go g‘PmB¶o&

11)	 What conditions are to be compiled with for amalgamation 

in the nature of a merger? Also state the silent features of 

accounting of amalgamation in the nature of merger.

	 {db¶ Ho$ ñd^md dmbo EH$sH$aU Ho$ {bE {H$Z eVm} H$s ny{V© hmoZm Amdí¶H$ 
h¡? {db¶ H$s àH¥${V Ho$ EH$sH$aU Ho$ gå~ÝY ‘| boIm§H$Z Ho$ ‘w»¶ bjU 
^r ~VmB¶o&

12)	 Give the functions of accounting standards board. Also explain 

the process of the issue of accounting standards in India.

	 boIm ‘mZH$ ‘ÊS>b Ho$ H$m¶© ~VmB¶o& ^maV ‘| boIm ‘mZH$ d {ZJ©‘Z H$s 
à{H«$¶m ^r g‘PmB¶o&
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13)	 Kamal Limited have parts of its share capital is 3000 5% 
redeemable preference shares of ̀  100 each. According to the 
articles of association of the company, these shares are to be 
redeemed at  a premium of 5%. The General Reserve of the 
company shows a credit balance of ` 2,00,000. The directors 
decided to utilize 50% of the general reserve in redeeming the 
shares in addition to provide for premium on redemption and 
balance amount for redemption is to be met from the proceeds 
of fresh issue of sufficient number of equity shares of ̀  10 each. 
The premium is also to be met from the General Reserve.

	 You are required to give the journal and the ledger entries on 
competition of the above transactions.

	 H$‘b {b{‘Q>oS> H$s {ZJ©{‘V A§e ny§Or H$m EH$ ^mJ 100 ` dmbo 3,000 
5% emoYZr¶ A{Y‘mZ A§e ‘| gpå‘{bV h¡& AÝ¶ {Z¶‘m| Ho$ AZwgma 
A§em| H$m emoYZ 5% àr{‘¶‘ na hmoZm h¡& H$ånZr Ho$ gm‘mÝ¶ g§M¶ ‘| 
2,00,000 ` O‘m h¡& g§MmbH$ BZ A§em| Ho$ emoYZ Ho$ {bE AmYo g§M¶ 
(emoYZ na n«r{‘¶‘ Ho$ Abmdm) H$m Cn¶moJ H$aZm MmhVo h¢& VWm eof H$s 
ny{V© à¶m©ßV ‘mÌm ‘o§ 10 ` dmbo Z¶o B³drQ>r A§em| Ho$ {ZJ©‘Z Ûmam H$aZm 
MmhVo h¢& emoYZ na àr{‘¶‘ H$s ny{V© ^r gm‘mÝ¶ g§M¶ go H$aZr h¡&

		  Cnamo³V gm¡Xm| Ho$ nyU© hmo OmZo na AmnH$mo OZ©b VWm boOa ‘| 
Amdí¶H$ à{dpîQ>¶m± XoZr h¢&


